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F1 SHEBREOENMKE

X EEDRER FHE FFHEINE g
(%) (g) (g/H) BRE

ALK 92.8+4.8 51.5+4.5 124.4 2.63

50%E & X 90.1%5.9° 51.4%3.0 130.0 2.82

*HRX 95.4+4.4° 52627 130.0 2.59

b R BRI EZE(P<0.05).Tukey D ZE LS L 5.

®2 EROINERERME

X DA% oR EE IR = JIER HU™ p )

(kg/? ) (x001mm) (1~15) BHE HFBE #EEE

JoAhILR 429 35.5 7.5° 86.5° 64.6 14.1 27.7
(£s.d) +0.88 +29 +0.8 +7.7 +35 +2.1 +26

50%E & X 3.98° 34.6° 7.9° 83.9 63.6 14.8 28.0
+0.94 +33 +0.7 +7.1 +37 *+24 238

TR X 4.71° 36.6° 8.8° 82.1° 64.1 14.6 27.4
+0.77 +24 +0.6 +79 £34 *£22 21

b BB EICHEZE(P0.05).Tukey DZELERIZKB.
xs.d. ABHERE #+HU: /NI 1=wk=100 % log(BIEE —1.7 X BIE %'+ 7.6)
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